HW 2.4 Key

1. Acollege club consists of 49 members. Of the members, 14 are seniors, 16 are juniors, 13 are sophomores, and 6
are freshmen. The club needs to elect an executive board consisting of a President, Vice President, a Treasurer,
and a Secretary. The club's constitution requires that the President is a senior and Vice President is a junior. A
student is not allowed to hold more than one office. Determine the number of possible ways in which the board
could be formed.
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2. The board of directors for a particular company consists of 7 women and 20 men. A committee of 5 people is
selected at random from the members of the board. Find the probability that the committee consists only of

men.
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3. The board of directors for a particular company consists of 6 women and 18 men. A committee of 5 people is
selected at random from the members of the board. Find the probability that the committee consists emigeof 3

women and 2 men.

A)
B)
Q
D)
E)

0.0720
0.0677
0.0698
0.0742
0.0763

<<>C, 33(\%C_?_3

24 C s

P(B wosmen | 2 M&!\\

zo(152)
Hz,s04

- Go7za)

4. Acontracting agency has three clients that need to hire contract workers to fill various positions. Client A
requires 5 workers, Client B requires 2 workers, and Client C requires 6 workers. The agency has 17 employees
that can be assigned to these clients. No employee can be assigned to more than one client. Determine the
number of ways in which the agency can assign its available employees to the three clients.
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. Aclass of 40 students is to be divided into three groups with sizes 14, 12, and 14. Alice and Beth are best friends,

and hope to be in the same group. If the groups are assigned randomly, what is the probability that Alice and
Beth will be in the same group?
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